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QUESTION

e

The column headings of a table are known as :

(a)( Body b) Stub
(c) (Box - head d) ( Caption
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QUESTION
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Two random variables have the regression lines 3x + 2y = 26 and 6x +
y = 31. The coefficient of correlation between x ancly is :

(a) —0.25 (b) 0.5
(d) 0.25
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QUESTION @

An experiment succeeds twice as often as it fails. What is the
probability that in next five trials there will be at least three successes?
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QUESTION

For a Poisson distribution P (x = X =5), then S.D. is
(@) 4
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QUESTION

For a Binomial distribution B (6, p), P(x =2) =9p(x =4), then P is

(a) 1/2

(c) 10/13

(b) 1/3
(@) 1/4
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If x~N (3,36) and y~ N (5,64) are two independent Normal variate with

their standard parameters of distribution, then if (x + y) ~ N (8,A) also

follows normal distribution. The value of A will be

(237100
(c) 64
X NN (’5)36) NO Yoy ?MS;N \ (LN MmN
\']’VN( 5 6\\) XVI\J(W\UG—\ZB X~ () Z\k'\/g(\m)p)
WYVN(8y py | 1V (e, Fhy 17 Himg) H\;} et
| MM V(i
=34ty \_\AWN(N\\'WL)QL+ ;1 lm ) (M)
SIS o













